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Times Tables Facts Vocabulary e
: multiply repeatedly adding the
3x Table Tabe Tane same amount
the amount increases
Ox3=0 0=3=0 Oxd4=0 D+4=0 Ox8=0 n+B=0
) Ixd=d multiple the result of multiplying
1x3=3 3:3=1 xd= 4+4=1 1x8=8 BxB=1 a number by a whole
Iuid=4 +3=12 2x4=8 Brd=2 2xB=14 15+8=2 number
IxF=9 9:23=3 Ind=12 12:4=3 IxB8=24 24+8=3 divide split into equal parts or
4xnd=12 12+3=4 4x4=18 l6+d4=4 4x8=232 37 +H=4 groups
5x3=15 15:3=5 2x4=20 0=4=35 5x8=40 0+8=5 inverse the reverse of -
PPy adrd= 5o multiplication is the
= == Xa= = = -8 = 0 ...
6x3=18 18+3=46 . 4G = B=0 inverse of division
Tx3=2 MN+3=7 Frd=28 Br4=7 7x8=254 E5+B=7 -
array sets of objects arranged
Bx3=74 G4:3=8 Bxd=32 J2=4=8 Bx8 =44 64 +B=8 in rows and columns
9x3=27 7:3=9 S = A L= 72+8=9 Commutative | numbers can be
10x3=30 F+3=10 10x 4 =40 4= 4=10 10x8=280 B B=10 multiplied
s a= in any order.
Mx3=33 Ba=11 1xd=d44 Meaml 11x8=88 BE<B=11 i
- 4= - Factor A number that
12%3 = 36 365312 12x4=48 48+ 4= 14 12x8=94 P95+ B =17 o '
multiplies with another
to make a product.
Associated Facts and Using the Inverse Related Calculations Product The result of multiplying
one
number by another.
3x5=15 B@ ﬁ@ U:Ej U:E%'_‘l Dividend In division, the number
eeeee ..._; thatis cvided.
"". Divisor In division, the number
by which another is
SR8 5x3=15 divided.
15 = 3 = 5 Quotient The result of a division




Multiplying 2 digit numbers by 1 digit numbers

factor x factor = product
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Dividing 2 digit numbers by 1 digit numbers dividend + divisor = quotient Re-grouping needed
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